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IDL> data=randomu(-1L, 10)

IDL> print, data

0.41 0.09 0.75 0.52 0.93 0.38
0.65 0.06 0.72 0.67
IDL> bp=barplot(data)
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IDL> x=indgen(10)+1
IDL> print, x
1 2 3 4 5 6 7 8 9 10
IDL> bp2=barplot(x, data)
] BarPlot o | e

08~

06—

0.4 f

02

000'

SHED-Z-T-2-N-A-/7-1

barplot) gt== IDL AEAS0A= HE FHSIAE
Ot 22 712 28S 7K A& o

1. variable = BARPLOT(Zt)

2. variable = BARPLOT(S/X], )

M xE
BARPLOT(O M| COLORE= E|52| A4S, FILL COLORE=

W Mot Mg XFste 7Y=Lt

] BarPlot

Es]

Ll

08
0.6
0.4

02
2n'mnn
00 =57

TT[TIT[TTIr[TTT]
T T |

—
g

sRED-F-T-a-~-4A-/-1

IDL> bp3=barplot(data, FILL COLOR='yellow', $
COLOR="'red")
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IDL> bp4=barplot(data, BOTTOM COLOR='white', $
FILL COLOR='violet', color='tomato')
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bpS=barplot(data, BOTTOM COLOR='INDIGO', $
FILL, COLOR='LIME', C_RANGE=[0, 0.7])

o sartlot e
1.0 T
08 — —
o.s:— —_
04 E
02 E
QO_ ]

RO 712N A /- o

CiE ooy =

of Jejmol S7|& HlmULCH XH0| w2 ol
HDE ZQEX|E, 22 X=S 7K U4E7|2|9 v
n7 F9F OE YSLICL S SoiA, 20084,
2009, 2010Ho| & HHA 7|,_E HEZESIaX} SICHH,
0| Y= 40| Eojof XD GEY HDE BE
o ofof EHLICh CHE Strf dH=E o|gsto] 0|
EFSHE CheIt 2L



] BarPlot (o3 )

Monthly Temperature
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to08=[1.1,2.7,7.1,13.9,16.3,21.5,26.7,25.6, $
22.7,17.3,9.0,4.1]
t09=[1.2,5.3,7.4,12.0,18.0,21.9,24.5,25.0, $
21.6,16.2,9.6,6.1]
t10=[1.3,4.0,6.2,9.1,16.0,20.7,24.4,25.1, $
21.5,10.9,8.6,3.9]
month=indgen(12)+1 ;1~12

b08=barplot (month, t08, NBARS=3, INDEX=0, S
BOTTOM COLOR='white', FILL_COLOR='GOLD', $
NAME='2008', TITLE='Monthly Temperature',6 $
XTITLE='Month', YTITLE='Temperature')

b09=barplot (month, t09, NBARS=3, INDEX=1, $
BOTTOM_COLOR= 'white', FILL COLOR='RED', S
NAME='2009"', /OVERPLOT)

bl0=barplot(month, t10, NBARS=3, INDEX=2, $
BOTTOM_COLOR='white', FILL_COLOR='NAVY', $
NAME='2010', /OVERPLOT)

l=legend(target=[b08, b09, bl0], $
position=[1, 25], /DATA)
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year=indgen(10)+2000 ;2000~2009

pnuclear=[13.7, 13.7, 15.7, 15.7, 16.7, §
17.7, 17.7, 17.7, 17.7, 17.7]

pcoal=[14, 15.5, 15.9, 15.9, 17.5, 17.9, $
18.5, 20.6, 23.7, 24.2]

pgas=[12.7, 12.9, 13.6, 14.5, 15.7, 16.4, §
17.4, 18.5, 18.5, 18.4]

bn=barplot(year, pnuclear, name='Nuclear',6 $
Title='Electric Gen. Equip.', xtitle='Year', $
ytitle='Equip. Capacity.(GW)',$
fill color='crimson')

bc=barplot(year, pnuclear+pcoal, $
BOTTOM_VALUES=pnuclear, name='Coal', $
fill color='dark gray', /OVERPLOT)

bg=barplot(year, pnuclear+pcoal+pgas, $
BOTTOM_VALUES=pnuclear+pcoal, name='Gas', $
fill color='dark orange', /OVERPLOT)

l=legend(target=[bn, bc, bg], $

position=[1999, 58], /DATA)
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IDL> bh=barplot(month, t08, /HORIZONTAL, $
xtitle='Temperature', ytitle='Month')

W arton ==

Manith

(T)02-888-0850/0851 (F)02-878-1971

(#)o=



